UR, U, Uc [V]

Series RLC Circuit (R=0Q, C=0.1F, L=0.0001H)
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UR, U, Uc [V]

Series RLC Circuit (R=1Q, C=0.1F, L=0.0001H)
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UR, U, Uc [V]

Series RLC Circuit (R=5Q, C=0.1F, L=0.0001H)
2 i | l




| [A]

0.03
0.025
0.02
0.015
0.01
0.005

-0.005
-0.01
-0.015
-0.02
-0.025

RLC Phase Space




UR, U, Uc [V]

Series RLC Circuit (R=10Q, C=0.1F, L=0.0001H)
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UR, U, Uc [V]

Series RLC Circuit (R=15Q, C=0.1F, L=0.0001H)
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UR, U, Uc [V]
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Series RLC Circuit (R=20Q, C=0.1F, L=0.0001H)
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Ugr, Uy, Uc [V]

Series RLC Circuit (R=30Q, C=0.1F, L=0.0001H)
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Ugr, Uy, Uc [V]

1.2

Series RLC Circuit (R=50Q, C=0.1F, L=0.0001H)

I I I I I I I I [
X X X X X X X X uC
Ui _
UR
i i i i i i i

0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
t [s]



| [A]

0.014

0.012

0.01

0.008

0.006

0.004

0.002

-0.002

RLC Phase Space

0.4

0.6
uc [V]

1.2



Ugr, Uy, Uc [V]

1.2

Series RLC Circuit (R=60Q, C=0.1F, L=0.0001H)
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